
English 10th Class Chapter 2 Online Test

Sr Questions Answers Choice

1 She is not studying at the moment. this is a .......... sentence.
A. Compound
B. Complex
C. Simple
D. Negative

2 The gang or robbers was arrested by the police. the underlined word is a/ an.
A. Concrete noun
B. Collective noun
C. Abstract noun
D. Material noun

3 The class has just had a physics lesson. the underlined word is a / an.
A. Concrete noun
B. Abstract noun
C. Collective noun
D. Material noun

4 Prior to the first of the new year it is customary for families to clean their houses. The
underlined word means.

A. Relatives
B. Preceding
C. Following
D. subsequent

5 Elders present ....... packets to unmarriedmembers of the family.
A. Black
B. White
C. Red
D. Pink

6 Chinese new year falls somewhere .........

A. On january 21th
B. On february 20th
C. Between january 21th and
february 20th
D. On becember 1st

7 In chinese language the word "eight" means:
A. Love
B. Ugly
C. Friend
D. Prosperity

8 Hanging up signs and posters on doors and windows with the chinese word fu written on
them which means .......

A. Luck and happiness
B. Love and sincerity
C. Care and affection
D. Sad and gloomy

9 In china. celebration can actuallylast up to ba ...............
A. Month
B. Week
C. Fortnight
D. Year

10 Celebration can actually last up to an a month. The underlined word means.
A. Infact
B. Urgent
C. Generallly
D. Clearly

11 He is the recipient of many awards.
A. Winner
B. Buyer
C. Recevier
D. Giver

12 Envelope are not to be opened until.

A. The giver has left the home of the
recipient.
B. The recipient has left the home of
thew giver.
C. The giver has gone to sleep.
D. The giver did not allow.
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C. The giver has gone to sleep.
D. The giver did not allow .

15 Choose the word with correct spellings and fill up the bubbles sheet.
A. Troitse
B. Treitis
C. Traitee
D. Traits

16 Choose the word with correct spellings and fill up the bubbles sheet.
A. Excellent
B. Excellant
C. Excelent
D. Excillent

17 Choose the word with correct spellings and fill up the bubbles sheet.
A. Prospairty
B. Prasperity
C. prosperity
D. Prospareity

18 Choose the word with correct spellings and fill up the bubbles sheet.
A. Labaratory
B. Laberatory
C. Laboratory
D. Laboretory

19 Choose the word with correct spellings and fill up the bubbles sheet.
A. Privilege
B. Previlege
C. Prevelege
D. Previllege


